3-2

FIGURE 3-1. STEERING ASSEMBLY. SHEET 1 OF 2. INDEX NOS. 1-26. SEE LIST 3-1.

0186B00000
Manual No. 1013081 - Issue Date 3/1/84
Effective Serial No. AG8414-53441 thru




f

STEERING ASSEMBLY

FIGURE- UNITS
ITEM NZ:ARB-;R PER DESCRIPTION
NUMBER ASM 1234
1 - NO NO. 1 STEERING ASSEMBLY
FOR ILLUSTRATION SEE FIGURE 3-1
- 1012569 1 WHEEL, STEERING
- 2 7209 1 NUT, SCORECARD
-3 1012547 1 PLATE, SCORECARD
- 4 1012565 2 SCREW, PH TRUSS HD
- 5 1012566 2 SPRING, COMPRESSION
- 6 1012504 1 HOLDER, PENCIL
- 7 1013390 1 DECAL, OPERATING INSTRUCTIONS
- 8 7216 1 SCREW, SQUARE FLAT HD, 5/16-18
- 9 334 4 FLATWASHER, 3/8
- 10 320 4 BOLT, HEX, 3/8-16
- 1N 1012464 1 PLATE, STEERING MTG
- 12 1012528 4 NUT, HEX, 8MM X 1.25
- 13 7174 7 LOCKWASHER, 5/16
- 14 1012466 1 COVER, DUST
- 15 1012603 1 COLUMN WELD ASSEMBLY
- 16 1012465 1 BEARING, TOP
- 17 1012605 2 RING, RETAINING
- 18 1012604 2 WASHER
- 19 1012606 2 WASHER
- 20 1012609 1 BEARING, BOTTOM
- 21 1012607 1 RING, SNAP
- 22 1012608 1 SHAFT
- 23 1012830 3 BOLT, HEX, 8MM
- 24 1012454 1 JOINT, YOKE COMPOUND STEERING
INCLUDES TTEMS 13 AND 23
- 25 8754 4 . LOCKNUT, 3/8-16
- 26 1012471 1 . STEERING COLUMN ASSEMBLY
INCLUDES ITEMS 15, 16, 17, 18, 19, 20, 21, 22

ClubCar 3.3
0186B0O186A

Manual No. 1013081 - Issue Date 3/1/84
Effective Serial No. AG8414-53441 thru

I ——




